GWD-TN-9: Verbal
----------------------------------------------------------------------------------------------------------------------------------------------
Q1: GWD-11-28

In an effort to reduce the number of fires started by cigarettes, a major tobacco company is test-marketing a cigarette in which thin layers of extra paper are used to decrease the amount of oxygen entering the cigarette, thereby slowing the rate at which it burns and lowering the heat it generates.

A. in which thin layers of extra paper are used to decrease the amount of oxygen entering the cigarette, thereby slowing

B. in which they use thin layers of extra paper in decreasing the amount of oxygen entering the cigarette, which slows

C. that uses thin layers of extra paper to decrease the amount of oxygen when it enters the cigarette, thereby slowing

D. for which thin layers of extra paper are used to decrease the amount of oxygen that enters the cigarette, and thereby slowing

E. using thin layers of extra paper in decreasing the amount of oxygen entering the cigarette, which slows

------------------------------------------------------------------------------------------------------------

GWD-12-Q2:

Scientists are discussing ways to remove excess carbon dioxide from the atmosphere by increasing the amount that is absorbed by plant life.  One plan to accomplish this is to establish giant floating seaweed farms in the oceans.  When the seaweed plants die, they will be disposed of by being burned for fuel.

Which of the following, if true, would indicate the most serious weakness in the plan above?

A. Some areas of ocean in the Southern Hemisphere do not contain sufficient nutrients to support large seaweed farms.

B. When a seaweed plant is burned, it releases an amount of carbon dioxide comparable to the amount it has absorbed in its lifetime.

C. Even if seaweed farms prove effective, some people will be reluctant to switch to this new fuel.

D. Each year about seven billion tons of carbon dioxide are released into the atmosphere but only about five billion tons are absorbed by plant life.

E. Seaweed farms would make more money by farming seaweed to sell as nutritional supplements than by farming seaweed to sell as fuel.

------------------------------------------------------------------------------------------------------------

GWD-12-Q3:

Were it not for the fusion-powered heat and radiation that rush from its core, instead its own weight would cause a star to collapse.

A. instead its own weight would cause a star to collapse

B. instead a star would have collapsed under its own weight

C. a star would have to be collapsing under its own weight

D. a star would collapse under its own weight

E. its own weight would have caused a star’s collapse

------------------------------------------------------------------------------------------------------------

GWD-12-Q4 to Q7:

      The term “episodic memory” was introduced by Tulving to refer to what he considered a uniquely human capacity—the ability to recollect specific past events, to travel back into the past in one’s own mind—as distinct from the capacity simply to use information acquired through past experiences.  Subsequently, Clayton et al. developed criteria to test for episodic memory in animals.  According to these criteria, episodic memories are not of individual bits of information; they involve multiple components of a single event “bound” together.  Clayton sought to examine evidence of scrub jays’ accurate memory of “what,” “where,” and “when” information and their binding of this information.  In the wild, these birds store food for retrieval later during periods of food scarcity.  Clayton’s experiment required jays to remember the type, location, and freshness of stored food based on a unique learning event.  Crickets were stored in one location and peanuts in another.  Jays prefer crickets, but crickets degrade more quickly.  Clayton’s birds switched their preference from crickets to peanuts once the food had been stored for a certain length of time, showing that they retain information about the what, the where, and the when.  Such experiments cannot, however, reveal whether the birds were reexperiencing the past when retrieving the information.  Clayton acknowledged this by using the term “episodic-like” memory.

----------------------------------------------------------------------


Q4:  The primary purpose of the passage is to

A. explain how the findings of a particular experiment have been interpreted and offer an alternative interpretation

B. describe a particular experiment and point out one of its limitations

C. present similarities between human memory and animal memory

D. point out a flaw in the argument that a certain capacity is uniquely human

E. account for the unexpected behavior of animal subjects in a particular experiment

----------------------------------------------------------------------

Q5:

According to the passage, Clayton’s experiment depended on the fact that scrub jays

A. recall “when” and “where” information more distinctly than “what” information

B. are not able to retain information about a single past event for an indefinitely long period of time

C. choose peanuts over crickets when the crickets have been stored for a long period of time

D. choose crickets over peanuts whenever both are available

E. prefer peanuts that have been stored for a short period to crickets that have been stored for a short period

----------------------------------------------------------------------

Q6:  The passage suggests that Clayton’s experiment demonstrated scrub jays’ ability to

A. choose different storage places for different kinds of food to minimize the rate at which a food will degrade

B. unlearn a behavior they use in the wild in order to adapt to laboratory conditions

C. bind together information about different aspects of a single past event

D. reexperience a past event in memory and act accordingly

E. distinguish one learning event from a subsequent learning event

----------------------------------------------------------------------



GWD-12-Q7:

It can be inferred from the passage that both Tulving and Clayton would agree with which of the following statements?

A. Animals’ abilities to use information about a specific past event are not conclusive evidence of episodic memory.

B. Animals do not share humans’ abilities to reexperience the past through memory.

C. The accuracy of animals’ memories is difficult to determine through direct experimentation.

D. Humans tend to recollect single bits of information more accurately than do animals.

E. The binding of different kinds of information is not a distinctive feature of episodic memory.

----------------------------------------------------------------------

GWD-12-Q8 to Q10:
      Acting on the recommendation of a British government committee investigating the high incidence in white lead factories of illness among employees, most of whom were women, the Home Secretary proposed in 1895 that Parliament enact legislation that would prohibit women from holding most jobs in white lead factories.  Although the Women’s Industrial Defence Committee (WIDC), formed in 1892 in response to earlier legislative attempts to restrict women’s labor, did not discount the white lead trade’s potential health dangers, it opposed the proposal, viewing it as yet another instance of limiting women’s work opportunities.  Also opposing the proposal was the Society for Promoting the Employment of Women (SPEW), which attempted to challenge it by investigating the causes of illness in white lead factories. SPEW contended, and WIDC concurred, that controllable conditions in such factories were responsible for the development of lead poisoning. SPEW provided convincing evidence that lead poisoning could be avoided if workers were careful and clean and if already extant workplace safety regulations were stringently enforced.  However, the Women’s Trade Union League (WTUL), which had ceased in the late 1880’s to oppose restrictions on women’s labor, supported the eventually enacted proposal, in part because safety regulations were generally not being enforced in white lead factories, where there were no unions (and little prospect of any) to pressure employers to comply with safety regulations.

-------------------------------------------------------------------

Q8:   Which of the following, if true, would most clearly support the contention attributed to SPEW in lines 30-34 (“SPEW contended … lead poisoning”)?
A. Those white lead factories that most strongly enforced regulations concerning worker safety and hygiene had the lowest incidences of lead poisoning among employees.

B. The incidence of lead poisoning was much higher among women who worked in white lead factories than among women who worked in other types of factories.

C. There were many household sources of lead that could have contributed to the incidence of lead poisoning among women who also worked outside the home in the late nineteenth century.

D. White lead factories were more stringent than were certain other types of factories in their enforcement of workplace safety regulations.

E. Even brief exposure to the conditions typically found in white lead factories could cause lead poisoning among factory workers.

--------------------------------------------------------------------

Q9:   According to the passage, the WIDC believed that the proposed legislation resembled earlier legislation concerning women’s labor in that it

A. caused divisiveness among women’s organizations

B. sought to protect women’s health

C. limited women’s occupational opportunities

D. failed to bolster workplace safety regulations

E. failed to make distinctions among types of factory work

---------------------------------------------------------------------
Q10:  The passage is primarily concerned with

A. presenting various groups’ views of the motives of those proposing certain legislation

B. contrasting the reasoning of various groups concerning their positions on certain proposed legislation

C. tracing the process whereby certain proposed legislation was eventually enacted

D. 

assessing the success of tactics adopted by various groups with respect to certain proposed legislation

E. evaluating the arguments of various groups concerning certain proposed legislation

----------------------------------------------------------------
GWD-12-Q11:
In general, jobs are harder to get in times of economic recession because many businesses cut back operations.  However, any future recessions in Vargonia will probably not reduce the availability of teaching jobs at government-funded schools.  This is because Vargonia has just introduced a legal requirement that education in government-funded schools be available, free of charge, to all Vargonian children regardless of the state of the economy, and that current student-teacher ratios not be exceeded.

Which of the following, if true, most strengthens the argument?

A. The current student-teacher ratio at Vargonia’s government-funded schools is higher than it was during the most recent period of economic recession.

B. During recent periods when the Vargonian economy has been strong, almost 25 percent of Vargonian children have attended privately funded schools, many of which charge substantial fees.

C. Nearly 20 percent more teachers are currently employed in Vargonia’s government-funded schools than had been employed in those schools in the period before the last economic recession.

D. Teachers in Vargonia’s government-funded schools are well paid relative to teachers in most privately funded schools in Vargonia, many of which rely heavily on part-time teachers.

E. During the last economic recession in Vargonia, the government permanently closed a number of the schools that it had funded.

------------------------------------------------------------------------------------------------------------

Q12: GWD-13-27

Which if the following, if true, most logically completes the argument?

Aroca County’s public schools are supported primarily by taxes on property.  The county plans to eliminate the property tax and support schools with a new three percent sales tax on all retail items sold in the county.  Three percent of current retail sales is less than the amount collected through property taxes, but implementation of the plan would not necessarily reduce the amount of money going to Aroca County public schools, because ______.

A. many Aroca County residents have already left the county because of its high property taxes

B. a shopping mall likely to draw shoppers from neighboring counties is about to open in Aroca County

C. at least some Aroca County parents are likely to use the money they will save on property taxes to send their children to private schools not funded by the county

D. a significant proportion of parents of Aroca County public school students do not own their homes and consequently do not pay property taxes

E. retailers in Aroca County are not likely to absorb the sales tax by reducing the pretax price of their goods

------------------------------------------------------------------------------------------------------------

GWD-12-Q13:

Although energy prices have tripled in the United States over the last two years, research indicates few people to have significantly reduced the amount of driving they do, nor are they making fuel efficiency a priority when shopping for cars.

A. few people to have significantly reduced the amount of driving they do, nor are they making

B. few people having significantly reduced the amount of driving they do or made

C. that there are few people who have significantly reduced the amount of driving they do, nor having made

D. that few people have significantly reduced the amount of driving they do and are not making

E. that few people have significantly reduced the amount of driving they do or made

------------------------------------------------------------------------------------------------------------

GWD-12-Q14:

In 1914 a total of 469,000 cars and trucks were produced in the United States, but in 1929 almost twice the numbers of tucks alone came off the assembly lines.

A. the numbers of tucks alone

B. that number of trucks alone

C. the number of trucks by themselves

D. as many trucks themselves

E. as many trucks by themselves

------------------------------------------------------------------------------------------------------------

GWD-12-Q15:

FastMart, a convenience store chain, is planning to add pancake syrup to the items it sells.  FastMart stores do not have shelf space to stock more than one variety of syrup.  Surveys of FastMart customers indicate that one-fourth of them prefer low-calorie syrup, while three-fourths prefer regular syrup.  Since FastMart’s highest priority is to maximize sales, the obvious strategy for it is to stock regular syrup.

Which of the following, if true, most seriously weakens the argument?

A. People buying pancake syrup at convenience stores, unlike those buying it at supermarkets, generally buy it only a few times.

B. People who prefer low-calorie syrup generally use about the same amount of syrup on their pancakes as those who prefer regular syrup.

C. Regular syrup does not sell for a higher price per unit than low-calorie syrup.

D. In general, customers who prefer regular syrup will buy low-calorie syrup if regular is unavailable, but those who prefer low-calorie will not buy regular syrup.

E. Sales of syrup are not expected to account for a large proportion of total dollar sales at the average FastMart store.

------------------------------------------------------------------------------------------------------------

GWD-12-Q16:

Certain genetically modified strains of maize produce a natural insecticide that protects against maize-eating insects.  The insecticide occurs throughout the plant, including its pollen.  Maize pollen is dispersed by the wind and often blows onto milkweed plants that grow near maize fields.  Caterpillars of monarch butterflies feed exclusively on milkweed leaves.  When, in experiments, these caterpillars were fed milkweed leaves dusted with pollen from modified maize plants, they died.  Therefore, use of the modified maize inadvertently imperils monarch butterflies.

Which of the following, if true, most seriously weakens the argument?

A. Per unit of volume, the natural insecticide produced by the genetically modified maize plants is less toxic to insects than are many commercial insecticides commonly used on maize plants.

B. Standard weed-control practices that have been used by farmers for decades have largely eliminated milkweed plants from certain areas where monarch-butterfly caterpillars were once common.

C. The experiments showed that the caterpillars were not harmed by contact with the pollen from the genetically modified plants unless they ingested it.

D. The maize-eating insects that the natural insecticide protects against do not feed on the pollen of the maize plant.

E. Airborne maize pollen tends to collect on the middle leaves of milkweed plants and monarch caterpillars feed only on the plant’s tender upper leaves.

------------------------------------------------------------------------------------------------------------

Q17: GWD-11-30

Socially and environmentally responsible investing is on the rise:  last year in the United States, over $2 trillion was invested in funds that screen companies according to a variety of criteria such as adherence to labor standards, protection of the environment, and observance of human rights.

A. according to a variety of criteria such as

B. according to a variety of such criteria, as by

C. according to such a variety of criteria as by

D. in accordance with such a variety of criteria as

E. in accordance with a variety of criteria, such as by

------------------------------------------------------------------------------------------------------------

Q18: GWD-11-32

Since 1975 so many people have been moving to Utah such that Mormons who were once 75 percent of the population are now only accounting for half of it.

A. so many people have been moving to Utah such that Mormons who were once 75 percent of the population are now only accounting for half of it

B. many people have been moving to Utah, so Mormons once 75 percent of the population are now accounting for only half

C. that many people have been moving to Utah, such that the Mormons that were once 75 percent of the population are now accounting for only half of it

D. many people have been moving to Utah such that the Mormons, who once represented 75 percent of the population, now only account for half

E. so many people have been moving to Utah that the Mormons, who once represented 75 percent of the population, now account for only half

------------------------------------------------------------------------------------------------------------

GWD-12-Q19:

Heavy commitment by an executive to a course of action, especially if it has worked well in the past, makes it likely to miss signs of incipient trouble or misinterpret them when they do appear.

A. Heavy commitment by an executive to a course of action, especially if it has worked well in the past, makes it likely to miss signs of incipient trouble or misinterpret them when they do appear.

B. An executive who is heavily committed to a course of action, especially one that worked well in the past, makes missing signs of incipient trouble or misinterpreting ones likely when they do appear.

C. An executive who is heavily committed to a course of action is likely to miss or misinterpret signs of incipient trouble when they do appear, especially if it has worked well in the past.

D. Executives’ being heavily committed to a course of action, especially if it has worked well in the past, makes them likely to miss signs of incipient trouble or misinterpreting them when they do appear.

E. Being heavily committed to a course of action, especially one that has worked well in the past, is likely to make an executive miss signs of incipient trouble or misinterpret them when they do appear.

------------------------------------------------------------------------------------------------------------

GWD-12-Q20:

Approved April 24, 1800, the act of Congress that made provision for the removal of the government of the United States to the new federal city, Washington, D.C., also established the Library of Congress.

A. Approved April 24, 1800, the act of Congress that made provision for the removal of the government of the United States to the new federal city, Washington, D.C., also established

B. The act of Congress, which was approved April 24, 1800, making provision for the removal of the government of the United States to the new federal city, Washington, D.C., also established

C. The act of Congress approved April 24, 1800, which made provision for the removal of the government of the United States to the new federal city, Washington, D.C., and established

D. Approved April 24, 1800, making provision for the removal of the government of the United States to the new federal city, Washington, D.C., the act of Congress also established

E. Approved April 24, 1800, the act of Congress made provision for the removal of the government of the United States to the new federal city, Washington, D.C., also establishing

------------------------------------------------------------------------------------------------------------

Q21: GWD-13-31

By competing with rodents for seeds, black ants help control rodent populations that pose a public health risk.  However, a very aggressive species of blank ant, the Loma ant, which has recently invaded a certain region, has a venomous sting that is often fatal to humans.  Therefore, the planned introduction into that region of ant flies, which prey on Loma ants, would benefit public health.

Which of the following, if true, most strengthens the argument?

A. Ant flies do not attack black ants other than Loma ants.

B. Loma ants are less effective than many bird species in competing with rodents for seeds.

C. Certain other species of black ants are more effective than Loma ants in competing with rodents for seeds.

D. The sting of Loma ants can also be fatal to rodents.

E. The use of pesticides to control Loma ants could have harmful effects on the environment.

------------------------------------------------------------------------------------------------------------

GWD-12-Q22:

Denoma, a major consumer-electronics maker, had a sizeable decline in sales revenue for its most recent fiscal year.  This result appears surprising, because electronics retailers report that although their overall sales were considerably lower than in the previous year, their sales revenue from Denoma models actually grew, largely thanks to some innovative and popular models that Denoma introduced.

Which of the following, if true, does most to explain the apparently surprising result?

A. Because of the need to educate the public about its new models’ capabilities, Denoma’s advertising spending was higher than normal over the period.

B. For the period at issue, Denoma’s major competitors reported declines in revenue that were, in percentage terms, greater than Denoma’s.

C. A significant proportion of Denoma’s revenue comes from making components for other consumer-electronics manufacturers.

D. Unlike some of its major competitors, Denoma has no lines of business outside consumer electronics to provide revenue when retail sales of consumer electronics are weak.

E. During the period, consumer-electronics retailers sold remaining units of Denoma’s superseded models at prices that were deeply discounted from those models’ original prices.

------------------------------------------------------------------------------------------------------------

Q23: GWD-11-33

After more than four decades of research and development, a new type of jet engine is being tested that could eventually propel aircraft anywhere in the world within two hours or help boost cargoes into space at significantly lower costs than current methods permit.

A. tested that could eventually propel aircraft anywhere in the world within two hours or help

B. tested that could eventually have the capability of propelling aircraft anywhere in the world within two hours or to help

C. tested, eventually able to propel aircraft anywhere in the world within two hours, or helping

D. tested, and it eventually could propel aircraft anywhere in the world within two hours or helping

E. tested, and it could eventually have the capability to propel aircraft anywhere in the world within two hours or help

------------------------------------------------------------------------------------------------------------

GWD-12-Q24 to Q27:

     Years before the advent of plate tectonics―the widely accepted theory, developed in the mid-1960’s, the holds that the major features of Earth’s surface are created by the horizontal motions of Earth’s outer shell, or lithosphere ―a similar theory was rejected by the geological community.  In 1912, Alfred Wegener proposed, in a widely debated theory that came to be called continental drift, that Earth’s continents were mobile. To most geologists today, Wegener’s The origin of Continents and Oceans appears an impressive and prescient document, containing several of the essential presumptions underlying plate tectonics theory: the horizontal mobility of pieces of Earth’s crust; the essential difference between oceanic and continental crust; and a causal connection between horizontal displacements and the formation of mountain chains.  Yet despite the considerable overlap between Wegener’s concepts and the later widely embraced plate tectonics theory, and despite the fact that continental drift theory presented a possible solution to the problem of the origin of mountains at a time when existing explanations were seriously in doubt, in its day Wegener’s theory was rejected by the vast majority of geologists.

       Most geologists and many historians today believe that Wegener’s theory was rejected because of its lack of an adequate mechanical basis.  Stephen Jay Gould, for example, argues that continental drift theory was rejected because it did not explain how continents could move through an apparently solid oceanic floor.  However, as Anthony Hallam has pointed out, many scientific phenomena, such as the ice ages, have been accepted before they could be fully explained.  The most likely cause for the rejection of continental drift ―a cause that has been largely ignored because we consider Wegener’s theory to have been validated by the theory of plate tectonics―is the nature of the evidence that was put forward to support it.  Most of Wegener’s evidence consisted of homologies—similarities of patterns and forms based on direct observations of rocks in the field, supported by the use of hammers, hand lenses, and field notebooks.  In contrast, the data supporting plate tectonics were impressively geophysical—instrumental determinations of the physical properties of Earth garnered through the use of seismographs, magnetometers, and computers.

------------------------------------------------------------------




Q24:

The author cites Hallam (line 42) on the ice ages primarily in order to

A. provide an example of a geologic phenomenon whose precise causes are not fully understood by geologists today

B. criticize the geological community for an apparent lack of consistency in its responses to new theories

C. offer evidence held to undermine a common view of why Wegener’s theory was not accepted in its day

D. give an example of a modern scientist who believes that Wegener’s theory was rejected because it failed to adequately explain the mechanical basis of continental drift

E. support Gould’s rationale for why Wegener’s theory was rejected by most geologists in the early twentieth century

--------------------------------------------------------------------
Q25:

The author of the passage refers to the “considerable overlap” (line 23) between continental drift theory and plate tectonics theory most probably in order to

A. suggest that plate tectonics theory is derived from Wegener’s work

B. introduce a discussion comparing the elements of the two theories

C. examine the question of whether continental drift theory was innovative in its time

D. provide a reason why it might seem surprising that continental drift theory was not more widely embraced by geologists

E. cite an explanation that has been frequently offered for Wegener’s high standing among geologists today

----------------------------------------------------------------------

Q26:

The author of the passage suggests that the most likely explanation for the geological community’s response to continental drift theory in its day was that the theory

A. was in conflict with certain aspects of plate tectonics theory

B. 

failed to account for how mountains were formed

C. did not adequately explain how continents moved through the ocean floor

D. was contradicted by the geophysical data of the time

E. was based on a kind of evidence that was considered insufficiently convincing
----------------------------------------------------------------

Q27:

It can be inferred from the passage that geologists today would be most likely to agree with which of the following statements about Wegener’s The Origin of Continents and Oceans?

A. It was a worthy scientific effort that was ahead of its time.

B. It was based on evidence that was later disproved.

C. It was directly responsible for the acceptance of the theory of plate tectonics.

D. It has been disproved by continental drift theory.

E. It misrepresented how horizontal displacements cause the formation of mountain chains.

-------------------------------------------------------------------

GWD-12-Q28:

Some scientists contend that many species of dinosaur had a metabolism more like a warm-blooded mammal’s than a cold-blooded reptile’s.

A. that many species of dinosaur had a metabolism more like

B. that the metabolism of many dinosaur species were more like

C. that the metabolisms of many species of dinosaurs were more like those of

D. there were many species of dinosaurs that had metabolisms more like those of

E. there were many dinosaur species that had a metabolism more like that of

------------------------------------------------------------------------------------------------------------

GWD-12-Q29:

The Earth’s rivers constantly carry dissolved salts into its oceans.  Clearly, therefore, by taking the resulting increase in salt levels in the oceans over the past hundred years and then determining how many centuries of such increases it would have taken the oceans to reach current salt levels from a hypothetical initial salt-free state, the maximum age of the Earth’s oceans can be accurately estimated.

Which of the following is an assumption on which the argument depends?

A. The quantities of dissolved salts deposited by rivers in the Earth’s oceans have not been unusually large during the past hundred years.

B. At any given time, all the Earth’s rivers have about the same salt levels.

C. There are salts that leach into the Earth’s oceans directly from the ocean floor.

D. There is no method superior to that based on salt levels for estimating the maximum age of the Earth’s oceans.

E. None of the salts carried into the Earth’s oceans by rivers are used up by biological activity in the oceans.

------------------------------------------------------------------------------------------------------------

GWD-12-Q30:

According to public health officials, in 1998 Massachusetts became the first state in which more babies were born to women over the age of thirty than under it.

A. than

B. than born

C. than they were

D. than there had been

E. than had been born

-----------------------------------------------------------------------------------------------------------

GWD-12-Q31:

Emily Dickinson’s letters to Susan Huntington Dickinson were written over a period beginning a few years before Susan’s marriage to Emily’s brother and ending shortly before Emily’s death in 1886, outnumbering her letters to anyone else.

A. Dickinson were written over a period beginning a few years before Susan’s marriage to Emily’s brother and ending shortly before Emily’s death in 1886, outnumbering

B. Dickinson were written over a period that begins a few years before Susan’s marriage to Emily’s brother and ended shortly before Emily’s death in 1886, outnumber

C. Dickinson, written over a period beginning a few years before Susan’s marriage to Emily’s brother and that ends shortly before Emily’s death in 1886 and outnumbering

D. Dickinson, which were written over a period beginning a few years before Susan’s marriage to Emily’s brother, ending shortly before Emily’s death in 1886, and outnumbering

E. Dickinson, which were written over a period beginning a few years before Susan’s marriage to Emily’s brother and ending shortly before Emily’s death in 1886, outnumber

------------------------------------------------------------------------------------------------------------

GWD-12-Q32:

Prospecting for gold during the California gold rush was a relatively easy task, because of erosion, prehistoric glacier movement, and ancient, gold-bearing riverbeds thrust to the surface by volcanic activity put gold literally within reach for anybody with a pan or shovel.

A. because of erosion, prehistoric glacier movement, and ancient, gold-bearing riverbeds thrust to the surface by volcanic activity put gold literally within reach for

B. because of erosion, prehistoric glacier movement, and volcanic activity that thrust ancient, gold-bearing riverbeds to the surface, and putting gold literally within reach of

C. owing to erosion, prehistoric glacier movement, and volcanic activity that had thrust ancient, gold-bearing riverbeds to the surface, and putting gold literally within reach of

D. since erosion, prehistoric glacier movement, and volcanic activity that thrust ancient, gold-bearing riverbeds to the surface, putting gold literally within reach for

E. since erosion, prehistoric glacier movement, and ancient, gold-bearing riverbeds thrust to the surface by volcanic activity put gold literally within reach of

------------------------------------------------------------------------------------------------------------

GWD-12-Q33:

Several of a certain bank’s top executives have recently been purchasing shares in their own bank.  This activity has occasioned some surprise, since it is widely believed that the bank, carrying a large number of bad loans, is on the brink of collapse.  Since the executives are well placed to know their bank’s true condition, it might seem that their share purchases show that the danger of collapse is exaggerated.  However, the available information about the bank’s condition is from reliable and informed sources, and corporate executives do sometimes buy shares in their own company in a calculated attempt to calm worries about their company’s condition.  On balance, therefore, it is likely that the executives of the bank are following this example.
In the argument given, the two boldfaced portions play which of the following roles?

A. The first describes the circumstance the explanation of which is the issue that the argument addresses; the second states the main conclusion of the argument.

B. The first describes the circumstance the explanation of which is the issue the argument addresses; the second states a conclusion that is drawn in order to support the main conclusion of the argument.

C. The first provides evidence to defend the position that the argument seeks to establish against opposing positions; the second states the main conclusion of the argument.

D. The first provides evidence to support the position that the argument seeks to establish; the second states a conclusion that is drawn in order to support the argument’s main conclusion.  

E. Each provides evidence to support the position that the argument seeks to establish.

------------------------------------------------------------------------------------------------------------

GWD-12-Q34:

In an attempt to guarantee the security of its innovative water purification method, the company required each employee to sign a confidentiality agreement prohibiting that its water purification methods be disclosed to companies using an analogous purification process.

A. prohibiting that its water purification methods be disclosed to companies

B. prohibiting them from the disclosing of its water purification methods to any company

C. prohibiting disclosure of its water purification methods to any company

D. that would prohibit them from disclosure of its water purification methods to companies

E. that would prohibit its water purification methods to be disclosed to a company

------------------------------------------------------------------------------------------------------------

GWD-12-Q35 to Q37:
      Many economists believe that a high rate of business savings in the United States is a necessary precursor to investment, because business savings, as opposed to personal savings, comprise almost three-quarters of the national savings rate, and the national savings rate heavily influences the overall rate of business investment. These economists further postulate that real interest rates—the difference between the rates charged by lenders and the inflation rates—will be low when national savings exceed business investment (creating a savings surplus), and high when national savings fall below the level of business investment (creating a savings deficit ).  However, during the 1960’s real interest rates were often higher when the national savings surplus was large.  Counter-intuitive behavior also occurred when real interest rates skyrocketed from 2 percent in 1980 to 7 percent in 1982, even though national savings and investments were roughly equal throughout the period.  Clearly, real interest rates respond to influences other than the savings/investment nexus.  Indeed, real interest rates may themselves influence swings in the savings and investment rates.  As real interest rates shot up after 1979, foreign investors poured capital into the United States, the price of domestic goods increased prohibitively abroad, and the price of foreign-made goods became lower in the United States.  As a result, domestic economic activity and the ability of businesses to save and invest were restrained.

-------------------------------------------------------------------




Q35:  The passage is primarily concerned with

A. contrasting trends in two historical periods

B. presenting evidence that calls into question certain beliefs

C. explaining the reasons for a common phenomenon

D. criticizing evidence offered in support of a well-respected belief

E. comparing conflicting interpretations of a theory

--------------------------------------------------------------------
Q36:

According to the passage, which of the following resulted from foreign investment in the United States after 1979?

A. An increase in real interest rates

B. A decrease in the savings rate of certain other nations

C. An increase in American investment abroad

D. An increase in the price of American goods abroad

E. A decrease in the price of domestic goods sold at home

----------------------------------------------------------------------

Q37:   The author of the passage would be most likely to agree with which of the following statements regarding the economists mentioned in line 1?

A. Their beliefs are contradicted by certain economic phenomena that occurred in the United States during the 1960’s and the 1980’s.

B. Their theory fails to predict under what circumstances the prices of foreign and domestic goods are likely to increase.

C. They incorrectly identify the factors other than savings and investment rates that affect real interest rates.

D. Their belief is valid only for the United States economy and not necessarily for other national economies.

E. They overestimate the impact of the real interest rate on the national savings and investment rates.

------------------------------------------------------------------

GWD-12-Q38:

Outbreaks of Rift Valley fever occur irregularly in East Africa, several years apart.  When outbreaks do occur, they kill thousands of cattle.  A livestock vaccine against the disease exists but is rarely used.  It is too expensive for farmers to use routinely, and since it is not effective until a month after vaccination, administering it after an outbreak begins helps very little.  Nevertheless, experts predict that use of the vaccine will increase significantly within the next few years.

Which of the following, if true, provides the strongest justification for the experts’ prediction?

A. Rift Valley fever is spread by mosquitoes, but each outbreak is so widespread that it is impractical to control it by using insecticides.

B. When an outbreak of Rift Valley fever occurs, unaffected countries often refuse to import livestock from the countries affected by the outbreak.

C. It would take less than a month for producers of the vaccine to adjust their production operations to cope with a large increase in demand.

D. Many cattle farmers in East Africa are nomadic or live in remote villages, and such farmers, who have little access to modern veterinary medicine, are particularly hard hit by outbreaks of Rift Valley fever.

E. Recently published research has shown that certain identifiable climatic conditions are almost invariably followed, within two to five months, by an outbreak of Rift Valley fever.

------------------------------------------------------------------------------------------------------------

Q39: GWD-11-39

When working with overseas clients, an understanding of cultural norms is at least as important as grasping the pivotal business issues for the global manager.

A. When working with overseas clients, an understanding of cultural norms is at least as important as grasping the pivotal business issues for the global manager.

B. When they work with overseas clients, understanding cultural norms is at least of equal importance to the global manager as grasping the pivotal business issues.

C. For global managers working with overseas clients, understanding cultural norms is at least as important as grasping the pivotal business issues.

D. For global managers working with overseas clients, an understanding of cultural norms is at least as important to them as that they grasp the pivotal business issues.

E. Global managers working with overseas clients find an understanding of cultural norms to be equally important as grasping the pivotal business issues.
------------------------------------------------------------------------------------------------------------

GWD-12-Q40:

Which of the following most logically completes the argument?

Researchers recently asked dozens of shoppers, chosen at random coming out of a FoodBasket supermarket, what they had purchased.  The prices of the very same items at the nearest ShopperKing supermarket were totaled and compared with the FoodBasket total.  The ShopperKing totals averaged five percent higher than the FoodBasket totals.  Nevertheless, this result does not necessarily show that shoppers at ShopperKing would save money overall by shopping at FoodBasket instead, since ______.

A. shoppers who shop regularly at a given supermarket generally choose that store for the low prices offered on the items that they purchase most often

B. for shoppers with more than 20 items, the ShopperKing totals averaged more than five percent higher than the FoodBasket totals

C. many shoppers consider factors other than price in choosing the supermarket at which they shop most regularly

D. there is little variation from month to month in the overall quantity of purchases made at supermarkets by a given shopper

E. none of the people who conducted the research were employees of the FoodBasket supermarket

------------------------------------------------------------------------------------------------------------

GWD-12-Q41:

The first English settlers to establish a permanent colony in America did it not at Plymouth but along the shore of the James River west of Chesapeake Bay.

A. it not at Plymouth but

B. so not at Plymouth but

C. not at Plymouth but instead

D. not at Plymouth but did so

E. it not at Plymouth but rather
------------------------------------------------------------------------------------------------------------

Additional RC Question:

2nd RC (GWD-12-Q8 to Q10)

GWD29-Q21
The passage suggests that WIDC differed from WTUL in which of the following ways?

A. WIDC believed that the existing safety regulations were adequate to protect women’s health, whereas WTUL believed that such regulations needed to be strengthened.

B. WIDC believed that unions could not succeed in pressuring employers to comply with such regulations, whereas WTUL believed that unions could succeed in doing so.

C. WIDC believed that lead poisoning in white lead factories could be avoided by controlling conditions there, whereas WTUL believed that lead poisoning in such factories could not be avoided no matter how stringently safety regulations were enforced.

D. At the time that the legislation concerning white lead factories was proposed, WIDC was primarily concerned with addressing health conditions in white lead factories, whereas WTUL was concerned with improving working conditions in all types of factories.

E. At the time that WIDC was opposing legislative attempts to restrict women’s labor, WTUL had already ceased to do so.

------------------------------------------------------------------------------------------------------------

3rd RC, (GWD-12-Q24 to Q27):

TTGWD-12-QX:

The primary purpose of the passage is to

A. trace the evolution of a scientific theory from its roots in the early twentieth century

B. present two different explanations for a geologic phenomenon and compare their merits

C. discuss the reception of a scientific theory and offer an explanation for its rejection

D. challenge a traditional explanation for a geologic phenomenon

E. explain the mechanical basis of certain geologic phenomena

------------------------------------------------------------------------------------------------------------
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